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1.1 ����� ���  
	��� <$:

��:  

    , 
���� P����� ���� ���X   %���- �,	��� !$�� �;$       
��4��� P������ 0�1 �$�� ��1	 �
       �;��4�?,	 �4����GI� ���4����	 
	����

�����	,�&+ 	      
��4���� �	4���� &���� 0�1
 	 ����)��	  
;$4� 
�����+     &�4�	A� &4�	 

       H���4�<	 &	4)?,< �4�?��� 8	������
J�	G�F�,+       &4� B����	 
���� ��� >��� 

      
���G	 5��GI� ���?��� &� ��F� H���
 
����� 
���+ 	 �        �74- �4� �	4�� 
� &���

   
;�-	 �, 
����� &	)?,<+    
� @���	  &��
     � !��4������	 !��4���� 
��$��?  �4��

   ���� ����� �, 5����� �;�����	 
�+  @���	 
     
��� 2 ���� ��	��� &� �	���+   ��	�4�<	 

����GI�� �)<
	�(Atom + < ��G 
�#�� >��
������ 3���.� &��	 Y2�  �	�4��# �- 
  �,�����	 
���� 3#A+    5��)�� ������ �, �	$��	 +   
�)��� 
;����#� !$��	 +  &���	 

     �6 3� !-	�� @�� �, B$<�   %���G 
��$� &�� +�  ,��� 
�	      ��4#�� �4� �� �	�  	< �
��#��"0�1 ��� %����� K����� 3�-  �4�500�$� +���?��� ��< &� ��� Leukipp  

���     
���� &����� &�	 ��	��� 
���� 
��� 5��� >+   &4� ���4�< ���� ������� 
�����	 
&	)?,<+     ��	��� 
���� >< Atomizes. 0�1           �$4� �4, H�4�� &� H����� ��# &<           
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    ��	��� 
��� H���� ��� >��� + �	 �� $F2� �     
���� ���� &	)?,< ��� &� &+  &��	 
�������G 3F� ���� � 
���� 
��� 5����� &� &�� &��"�-
��� 2 �;$N�. �, !��� @���	 

�;��� @��+ <��# 	< !����# 0�1 
��� 2 ��	���	 ���6A� 
��$� !$�� >"!�.   

   F��� ��# 
���� &�	             34F�  �74��� @4�� �, &������� ���?��� &� ��Kant 
�����	�    �"�Oswald    �$� �, 1890   +   3�- >���1  �6 3� &�    0��� 8	��� ��G 

    ���	 Z 
����� ��*� �$�$�     ��	4��� 3� !��� !-	�� @�� ����� �$� 8	�N� ��G 3	-
 
������ �,	��� ��G1�0 >����$I� �"������� ��# &< John Dalton �$� 1804+ 

 >���<	 �"������� 3�[��� &	$�- 3�$<H��� :Chemistry of Atomizes  

2.1 ������ B
���+�� Chemistry of Atomizes:   

%���-    &< �$�<� �� 0�� �     �	�6, 
���� 
�� ���?,	 �����+  �	���� 
�	  0��   5����� 
       � 
����� �"����� )����� ��� ���	 5�� ���  ���     4�� 
�� �,���� @���I� ��-
��+ 

     ������ &� 
;7�$� &�� ��� @��	+ !����	 +  H��G	 !������	 +    �"������� ��# 0�� 
>����$I�John Dalton �$� �,  1804    &	$�4��� !-	�� @�� �, 
��	 =/		

������$I� �*���� ��"������� �������� )�����:  

A new system of Simple and Multiplan proportions  &	$�4��� 
)�����+ <   ><     &� ���� �#	� B$  ![)����    E,	��� &�� ��� �7��� �,� E?�- +  E?F� 
�7��  ��� &� &&��      $F2� &� �,	��� !����� &��;��6�� ��G �   �;��#$ &N� ���$ &�� 
'�"���� I �  �F��F 
��� ��)�+ F�	 �  @�� 0�� E2:   ��� �$��< ��1 �       
��4� &4� !�4���G 

A� 
	����$�� !	� Na+     ��4� &� !����G ��$��F	   &�#�4�	A� 
 O+    �4$#�� ��1	 
%�� &�������� 0�� 37�$�F��F ��"����� 
��� D �,	��� 
��� �����	< 
	����$��.   
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   !�� &������� &� ��"������� ����$�� H��	)&	���� (��	��� ��$�� !��� �	#	 0��. 
��"������� ��"������� ���($�� H�� &�	Hypotheses+ 
���� &N� ��� ������  ���$�

�N�����       �;� �7�� ���� 
��� 3� J�< �, �+    '�"���� R��$�	 =�#� ��;�	   �;/�� =� �. 
 � &���	N     ��	� !��� 
�� &� 	 5��� ��#�� 8�Y"� Molecule+    &< 8	�4���� &�	 
��#��"    !��� 
�� &� ��$�� �.         34���� ����$ �;���$ ��	��� !��� &�� ����$�� H��	  

  ����������;/��+   �� ����$ &��	      =#�� �$��� ��	�� 3�� � �,  J��A� �4���)  !��� 
 �;��$ 
�����.    �����	 ���)�� ����� ���$ �$�	 \     �4, ��4���A� &�$�	4��� C��4� 

��������:  %��F� &N� �   �� ��	��� &� �  �����$ 8	� �+       
�4�� 2 
;���4� !�4�	��� . 
      ��"������� �7�$��� ��	��� H�� ���$	Elements ;$�	 �  ������� �7�$��� : ��  &����

 �	���	 &�#��	A�	 ..1P� .      �	��� 
��� E?F� �$��< ��1	Jody+     �;� 3��$ &N� =�)��$ 
  '�"����� ���$ ��  �	'�"����,  �	'�����  �	�	��        
�	4���� �4,	����� 0�	A� �;����) 0�1 

)3������ (��#��$	�	 +��	��� 
���� �����A� 
������ ����� &	��� .  

     3	�$ &< =�)��$ ��;�	$1  B   !-	 �,)Dalton (    ��	��� !��� &� ��F� �#	� &��
  ��G��    ��"����� �7�$� �#	� ��� �;��6��.       3�	) !-	 ��� &� &��	 <   �$�	� 0�1 >

              �4-������ �;���� ���� �,	����� ��	��� &� ���� ��� �#	� B$N� 8��$ ���<  �4F�
�,	����� ��"������� �7�$��� &� ��F��.  

    
���� ����� ���� ��� &��	+  &��� ��G !-	�� @�� �, &��  �,���  
��4�� ����
   �"������� �����2� 5��) &�+    �� ������� ����)��� &��	 �    ����$ !�#	 H��G	 &	��

 ��#�� 3����"            &< !��4�<	 !4��� ������� ����)�� H��	 �7�$��� �, 
�	#	��� !�
           ��	�#� &��	< 21 &�� 
� �7�$��� �, 
�	#	��� ��	��� 3�� �, ����$��   !��� 3�� 

 ��"������� �7�$��� )���.  

      0��A� �, ��� >��� 3F��� ��� �$�	+      �7$� &N� �$� �;( Na    	< 
	4���$�� 
�A     %����� >	��� 
�� ���� H�$� !	�   ���� �7+    &�#�4�	A� 
�� ����	 O   >	��4� 

%�����   ��$��F �8+           H�4�G	 �7�$��� ��	� &�� �"������� 3�7�2� 3���� ��� &��	 
  &�������    �� 
�� ���� !��7< !?4Na   %����� >	��� 
	����$��   �14   ���� !��7<	 

 &�#��	A� 
��O  %����� >	���     �16 .        �$� ��� &� �/���� �$�-	 �, &��	1961 
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     ����) 3����� ��� 
��,���       ������� ����)�� ��� 
���� ���� <     34���� ����4$ >
��"�������+����� �F����� ��"������� 5�)�� ��� 3�  ��($ 5��) &� �,	Isotope 

C12  �,�7�� 
���� +          
�- �, �,�7�� 
���� ��($� V	/	���	 ����)�� ]�6 =���	 
5�2 37, �, ���  .  

 3.1 B
@�' 5/
@��� C�'*�� R'*(�� �����  

         
���� 
��	 �����)�� 
	���� �, P������ !��	)� �$���� ��1 �$�+     �4$��� �#	 < &
     ������ B����< B� ��� 0�1 37$     
���� 
��� ����� �"������� B����	 �+ 	�	  B$<   3�- 

      &� �6� &��F�� &���� ���;$1864   %����� �#	� &��    %�7$� &	��	 �F?F �� '�"����  �
E,	����+         C��� �;/�� �;��6�� ��	���	 �7�$��� H�� &� ��F��� &��	 +    ��4� 	< 

  ��"������� �;������ J�<.      &������� 0�� �#� &��	 <   �4� �	,��� &     ���4�� 	4� 
     ��"������� ��"������� !2�7�2� H�;� 5������ ����A�+     �"������� B�N� 3�Y��� ���	 

��	��� Dimitri Mendelejew �$� �, 1869+%��- 5��	 �B$� + <  8$47 >
    � �;/�� 8�� �7�$��� 87	X   %��� �7$� 3� ��)�� E,	��� +�     >�4�� !-	�� �, 

 ��# B�, �$���A� �"�������Lother Meyer=$���� ��	#��� ����	 D  ��4$� &��	 
  �7�$��� >�	��� 3	�#��   ����A� ��� 3�������+ <      B4��� �74$� 3� ��)�1 > 

��� 
��� H��� Z   ���4($�� ��4��� ��4� ���	 8���� ��;� �)�<	 Atomic 

Number.  

   �$� &� >�	��� 3	�#�� �($�1961     ���4��� >�	�4�� 3	�4#�� =4� B���-	 
     ��)�� ���,< &� �	)����     F?F 3�- &� ������� &� ��F���  !/� �$� & .   34���$ �$�

�	7
�	7 =� ������ >�	��� 3	�#�� 

����� >�	��� 3	�#�� :   
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������ ������  

  

  

  

*   *   *  
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������ ������  
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  A 
;��$ 0��	     �7�$��� >�	��� 3	�#�� �#	 ��� >+        �4, 3��4$ &< �4#� 
�7�$��� !��� ��$� V	/	�+	 
���� ��$� ]�6 0�� ��N$ ��;� .  

 �# 
����,�  '�# 
��*7 ��  
��#��� &����� T�� 2 �+    
�4��� 
�4� �;��46 ��N$ 
?��       �;��	$ �#	� �;)�	 �, !����� &�Nucleus+     �4#�� 	4� ���	 �   �4���A� 

  
���� >������Atom.   !�4$	�����	 !�4$	��	�$�� !����# &� 
�	$�� H�� ���� 
   	$�� 3�6	 
�# �$	����
�+     3�6�� ��� ���	 Nucleon.   	� 8?4G 
�	$��� )��� 

              �4��	$	 
��4�� !��4��� ��� &	�� 
���� !�$	����I� &� �	6- 	< !���)
���7$� .  

  

       >�	��� 3	�#�� ����� �, �$��� ���	< 	 ����<�
�- �7�$��� +     34�� �4)�<	 
B� ����� ���($�� H��� �7$�+  8�� B� �)�<	 Z < ���($�� ����� > Mass 

Number  �, >�	��� 3	�#��...   

	 B,��� ���Z !�$	����� ��� ���� Nucleon = Proton�	 � 4;� !����# � 
�44;�������44$�����  . !�44$	��	�$�� ��44� ����44�� �44�"������� !��44�����	N+ 

���?)72�	A 
�	$�� ���� ����  Atom Mass or Mass Number +A ���� &
 
����A!�$�6 ��	�#� >	���  nucleus Charge  !�4$	�����	 !�$	��	�$��  

������� ��������� ����	:   

A  = Z +N  

A
���� ����   

 Z!�$	�	���� ���  

 N !�$	��	�$�� ���  

o b e i k a n d l . c o m
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     3� =� 3����� �7$� ��;(1 	< &���� �$��< ��1	�  �4�"�������	 ��"������� B�����
  ������ 3�6��� B���$: <> X     ��G �7$��� 
�� ��   �4��� B����	 8	���   8�4�A� 

 �������A . Z . N   �74$��� �"�4������ 3�6�� 0�� 37�$ ������� �������� ���  
�	�)���+ 
	�$��	��� 
��� �7$� E?F� 235U   

 A . 235  

 X . U  

Z N 92 143  

      ��"������� �7�$��� 3� 0�� 5�)� 3�6�� ���	+ 	 1�0 �U   4%����� �#	� &  �1450 
%�7$�� E,	��� � %�����   8���� &� � A  1  0���  8��Z   �7�$��� H�� &�	 :  �"�($�� 

Isotope.  

 ��	���� ����  

�"�($��  Isotope;$� �#	�� 23%��($ � �;� ���($�� ����� J�$ Z ;$�	�  �4�($ 

	�$��	��� �7$�:  

235  238   

U     U    

N1= 92           N2= 92     (N1=N2)  

Isobar     ���� �"�($��  �;� ����� ��� J�$ �?��/� ���� �,  &�	 0��� ��6A� 3
;$�	 !��F �������:   

  A1= 14            A2=14     (A1=A2)  

 C    N 
6    7  

Isotern ���� �"�($��  �;�;$�	 !�$	��	�$�� ��� J�$ �:  

14  15   

C   N   

Z1=8                Z2=8    (Z1=Z2)  
 

o b e i k a n d l . c o m
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  Isomer    ;���� T���� 2 ���� �"�($��� < &� �F�10-9sec�	 �  3	) 3���� �,
;�����.    

 ������� ��"����� �"�($��Mirror Element��$� � J�$	 !�$	��	�$�� ��� J�$ 
J����� J����	 ���($�� �����.   

4.1 ,*� - '�*F�" )Avogadro(   

      ��, ��		$�� �������� =����� 
����� 5��) &�	!       �4����� 
�4�F� 
	�� ��	�< 
  �"������� ������ �	)����.  ��$ �$�	      ��- ���� ������� �����A� !��	)��� =�!   
	4�� 

    ��� �$�-	 0�1 �F����� 
����+         
���� 
�� ���� &�������	 ������� !��	)��� H�� 2	�	 
5��GI� �;� �, &�� ���D 
��� 2 � ���)�I� �"������� ��# 0�� 
���Avogadro 

   �$� �,1811   �6 V��<	 �#$< �_"      �	�� 
���� 
	�� 3� B��� !�$�   BB,�6���	   �, B$N� 
  
#��� J�$� ���	+    
������	 )*/�� J�$� @���	 +        J4�$ !���4*�� 3� �, �#	� 

 ��#�� ���"  !�Molecules+ < !����� >Atoms+         �"�4������ ��4# H�4�� &4�	 
  >	���$�� �"�������	Lechmidt �$� 1865+'����)� ��<	  
#� �, B$N� ��������� �

 ���� 
�$� ���	�#	� ��*�� &�27.10+18 Molecules��# "�.  

	<������� ����$��� �������� �������� �#	 	���	,R / K  ��4*�� ������  �$��< 	� 
����F��� �,	�����P V = NKT = n R T 8���� R)R = 8,314 J / mol/k(  ><

 ��444*�� �444���F+   >�444�� !444-	�� �444, K �444���F >	��444�                          
Bolzman (K = 1,32 .10-23 J / mol/k) �$��44-	 R/K ��44� �$�44#	� 

<	���	,NA������� �������� ��� 
�� ��� �#	� 
��� 
��G 3� �, 3"���� :    

NA = R/K =(8,314 J/mol/k) / (1,23 .10-23 J/mol/k) = 6,023.10+23 Atoms 
NA = R / K = 6,023.10+23 gram Atoms  

  ��1	��<  �$  &<   ��� �;($< F�� 	���	,  B����( &��� 3+       
�� 
4#� 34� �$��<	 
  >	���  J<�   
#� J	��  B�<���� ���� ���+        �4��� �4, !����� H�� �$�/		 

  !���44�� ��44� ��44� 
44#��� �44���+ K�744� 
44�, 3	44) V?44/< 
Z������3√6,023.10+23  = 84,450 Km  �$��7 ��1	 J	��    J�����4�� H�4�

o b e i k a n d l . c o m
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          4�� ��� )��� 3	) �$�#	� 
����� )�� �;/�� ���	 !����  4�?�� ��   ��4��A� &
 %����� >	���	  �600.000   �"���� <    ��"	/ �$� 8�.   %����� >	��� ��"	/�� �$���	 �

 �,�����.1012 km   

  

  

  

  

  

  

  

1.4.1 ������� ����� ��!" ( Absolute Masse)  

    ���)��� 
���� ���� �� ��Z       ���)��� 
���� ����� ������ 3��� �#	� 8��	 Z  H��	 
  ������mA   ��) &� �#	�     >���� ����� ���-  5A        �4��$ !4$�� �,	��� 
��� >A 

  �,��� ���)��� �;����+ $       ��4� 04�� �;��4�<     >	��4���	 8	�4���� 	��4�	,            
NA= 6,023.10 +23    

mA  = A / NA  

         >���� ����� J��$�� 
���� ���)��� 
���� ���� �,��� �$��< ��1A    >��� 
����� H�;� 
 >	���A = 63,54g+� �$��-	  ��� 0�� ����� ��<    
��4�� �4��� �$�4#	 	���	,

 J��$�� ���)���.           �4,	�����	 
�	4#	��� ��	��� 3�� 3����� ������� ����)�� H��	 
��,������)��� 
���� 3�� .  

mA  =  63,54 gr / 6,023.1023=  10,5.10-23gr  

o b e i k a n d l . c o m
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2.4.1 ����� ��#    

  ̀3� �#$ 0��   '���� ���$ 	<     
����� �, 
���� �)- �+ ,    �)��� ����)� ������� ��: 
       �� 
��� &� 
�� 
� ><�       Z�4��	 ���� 
�$� B�#� ���� �, �#	     34��� ��4;�	

  '���$� !����� !�7  �<        �4, �;$��� �;�  
�� 3� >
        !�4������ ��	�#� &� �;� ��� ��*7 ����

        �4��	 �4��� 
�$� B�#� ���� �, 
�	#	���. 
 �����
��K/	��� .   

   $�� >��� !-	�� �,!   �,�F�   4,	��� 
������ ρ 
  ���	<       0��A� 3��� ��� �$�$� 8	���	 �#	� B$

    ���)��� 
����� ����mA      �,�F��� �$��- 	� 0��	 ρ..       �4#	 ���)��� 
���� ���� 0��
!����� ��� �$�$�NL������� �������� ��� ���	 ���� 
�$� 
#� �, 
�	#	��� :  

ρ / mA  = ρ / A / NA  
NL  =  ρ.NA / A  

   �� ��N$ �$�         !������� &� �;� ��� ��*7 ���� �, �;�/$	 >	�� 3�6� 
��

�	#	���+         �$� H�$�� ���	 ���	 ���� 
�$� B�#� <       =�4/ >	��4� 
���� �)- &

   �;� ����� ��*7�� ������+          �4����� =�4/ �)- 87$ >	��� ���)- 87$	 
 B� 
�	#	���+   %���	 >	��� 
���� H�� 
#�	 �
�	#	��� ��	�#��� &� 3��� 
#� &�  

������� ��������� H�;($ �� ��� ���	 ���� 
�$� �,:  

1 / NL  


���� �)- ��<  d#�� >	���� 
#��� ��F��� �1 / NL   

d  = 1 / NL =  3√ A / ρ NA  

������� �������� &� �)��� 87$ >	��� 
���� �)- 87$	:  

r  =  1 / 2 .3√A / ρ NA  

� 8��$             $�� �4,�F� 3	4�$ J�4�$�� 
�� �4)- 874$ E?F�    >	��4� J�4�                 
ρ = 63,54 cm3 ������� �������� ��� 3��� �#	� ��;�	:   

o b e i k a n d l . c o m
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r  =  0,5 3√63,54 g cm3 / 8,9g . 6,023.10+23  =  1,14.10-8 cm    

 
�	7�� ��N$ !����� �)- 87$ ��;(1 ]�6	 �$������	�������:  

  

  

  

  

  

  

       F����� 3	���� 3� 3���� ��)$��� �������� 3��� ���	�+      �4)- 87$ &< &���	 
%����� >	��� ��	��� 3�� 
�����  

r  = 1. 10-8cm  

5.1+�2� �S'5:  

1     H�#		 H�#$< �� &<           
��4��� 
��4�� 
�� �, )��$�� ����	 !2�#� K�, 	���	,
������	+   �6 �	#	 &��	 �   ����;���� ���� ��� 
;� +E,	��� &�� ��� @���	 � E?�- 

         A�4� ��4�� �4� 34� &��	�� 5������        ��4��� �4, C��	4���	 ]?�..  ��4#
������Faraday   �$� 1834    ��#$I B������	 �,���	  ��;� �#��$ : <   4a�< B4$< >&  

  ����� ����� !����       ����� �, ���#�1 �)- 3��$1 <  H���Anode+     @��� B$< >< < 3�$
       %�)- ����� ���� J�$ �,	 ���	�� J�$ �,� '���� � <  H���Chatted   %��4�� 
;"�)�X� � 

��;�'�"�+�  !�$	�< 0�1 �	����� ���	�� �, �	#	��� ����� 3	� ����)�� H�;�	 Ions+ 
 � !�$	�A�	 1 !��  �$	�6� !��� 2.         >< 3��$��� ������ 
���� 3	< ��#$I� ��� &��	 
 3� �	7����Electrolyze      ����#�I� !�$	�A� &< >< (+)      &4� �4F��$��� )  �4�	�

�A�	$ (  �� &� 3��$�4 Anode  �	� 0�1   4�� �  4Chatted  J����4�	 +   !�4$	�A�	 
   ��	� &� 3��$� �������Chatted      ��	� 0�1 ���� 	 Anode      �4���F �4���� 0���	 

������� .!��� ��"������� ��"������� ������� H��	:>����, &	$�- Faraday Low. 
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         �� 
��� &� ���	 �"����� 
��G 9������ ������ �;�������� �	7����	+   �-�) �$���� 
;� �;���- ��"���C96480 +���	 @���	 1.Coulomb   �4, R�$��� ������ >	��� 

 ��$�F��1.Coulomb = 1Amper sec.  
��*��4� �#������� ������ H�� !���	 
      ��� !$�� 
��� >< &�Faraday.         34� ���7�	 9�����2 3����� ������� H��	

�$��F�� &������.  

E?F����	 
�� 
��G 9������ �$��< 	� 1.gram Atom�/��� 
��� &� +  �4��- 
>	��44� �44����� B44���� A=107,87 g >	��44� �44�"���;� �44-�) �44$����                   

96840 Coulomb.   

 ������ ���)�� �($ 3�	�� !��< �$�1������ 3F���� 3�����2� ����� 0�:   

 )���� $� ���"�� ��	�% �"&�� �����'� (	*� ��� ����+� ���%�! �
�(  

 H�)- 3�6�� �$�	)�< ���	120 mm+B������  400mm+   04�)� &< �4#� 
�� 
��� &� ���)� 4 Nickel�;��� 0,015mm.  �4#	��� �"���;��� ������ 
��- 

>	��� ������� H�;�0,4 A/dm2 ����F	 �$����3������� ���?)72� >c	��� :  

Ä= 0,304 mg/A.sec  

3��$�� �,�F�	 :ρ = 8,8g/cm3    

��� ����	���� >	��� 
����� � :m = Ä. i. t [gr]  

���F,� 3��$��� Ä >	��� 
��� 
�# 3�� Ä  = A / 96497 Asec  

-���:  

1�
��*��� 3��$��� ��#�	�� 3��$�� ���� �� 
� Z  

2�#�	�� �"���;��� ������ 	� 
�  
��	 �, �AmpereZ  

3�������� ������� H�;� 
�?�� !-	�� 	� �� Z  

o b e i k a n d l . c o m
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����:  

 	�� �������      =��� 
�$� �, �;���$� �#����	:      '���$� �$��- ��1 �$�$� �#	� �$�  �
   &���"�� 0�1 �$�	)�A� 3�6��:  ����	 0��� +    �$�	)�A� 
�#��	 1    3	4)�  04� ..

>	��� 
�"�� 3� ����� d2π/4 >	��� ��	� ��;�����	:  

2(d2π/4) = 113,1cm2
  

   >	��� �$�	)�A� 3	)��� �����	..2πr.h.+   � V	�#� @���	    �4��� !������
$��� �;��) �#��>	��� 3�:  

2(d2π/4)+2πr.h = 1734cm2
  

  >	��4� �4��	 
�$� 3� &�� ��1: 1cm2 = 1 / 100 dm2  4, X &1734cm2 
>	��� : 1734 cm2 =  17,34 dm2.  

  3� &�� ��1	dm2   >	��� ���� B���� : 0,4A/dm2  4, X  &17,34dm2   
;��4�� 
>	����� �"���;��� ������:   

i = 6,94 = 17,34.0,4 = 6,94  Ampere  

>	��� 3�$��� ��)��� 
#���	:  

V=2(113,1cm2 . 0,0015 cm) +2πrh.0,0015 =2,60 cm3
  

 ��#�	�� 
��*�� 
��	� 3��$�� ����	�>	��� ��)�:  

m = ρ.V =8,8gr/cm3 . 2,60cm3 = 22,88gr  

            4)���� �4������ �4�������	 
����� ��� >	��� !������� H�;� 
�?�� !-	��	�
 
 ���/����$��� ��)�
���G	 �����	 �/���	 3�+!-	�� >	��� �$�	                     :   

Ä.i.t  m =: t= m/Ä.i [sec] 

  t = 22,88gr/0,304mg/As.6,94A =10,8900sec/3600 
  = 3h.17min.30sec  

1.5.1 .�/!�� ����* Ionization  

         6�� ���- �� 
� �,��� �#� &�N��� ����� 0�� 8�����     �4��� �4�"���;��� �$�
�B����$� �, &	�A� �;���..Z  

o b e i k a n d l . c o m
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����:      ���- 5��) &� �#	� �$�6�� H��  A.sec96840c     ��4� 0�� ��	�	� 
<	���	,   �$�)���3-<     
�	#	� ����;� ���� 1�0 �U     �$�6�� �;���$ ����	 ����)��� &

������� ��������� 
�;(���	 ��	����� ��"�����:  

96840 A.sec  /  6,023.10+23  =  1,602.10-19A.sec  

      ����)�� �, 
��*7�� ��"���;��� �$�6�� H�� �	#	�	+     ��F��� ���,<	 ��($< !��� 
 5�� 3F� 
���# ���6< 0�1 ������� &�Chatted Ray  �	4#	� ���� ���� �,���� 

I�!��	����+ <      ��	4�� �	�� ��	;�� &� i��, 5�*� �#�#� �	�$< �, !��	� >&� 
$F��&�+ 
���	�� �;$�� ����#�1 Anode+����� ��$�F��	 Chatted� &�� =/	 ��1 &��� 

��	���&�   =���� �"���;� �;# Z    ��	��� �"������� ��# ��;�	 Hittorf    �$4� 1869 
�	�$< 3	�$ 0�� �#		 ������� H�;� ���	 Chatted Ray+�� 3�-	 �  &4� H�#	 

       ��	��� &�� ����$�	 ������ ����� ������ !����#	 !����61&�    �	4�$A� �4, + 
     ����)��� �,	��� ��G ����� ���� �;$N�+       
�4�F� !����-	 !������� ��� &� ���	 .. 

   �"������� ��#Lenard    �$� �, 1898+    �4�<	 <     � !����46I� H�4� &  1 !�4� 2
  ����� �$	�6� !����#+      , ���� 
�� !����#�� H�;� !�)�<	 ��"���:  !�$	����I� 

Electrons      &�� 
� !����#�� H��	    �;$� 3�- ��� !���+ A     4;$� 
���	�� &�	 &� 
    ���� &�#��	A� 
�� &� 8�<3 1836 
�� . I      ����4$�� �;���� ����#�� H�;� ��#�

   ������ &�#��	A� ���� 
���A     ��� 0��  <	���	,+       �4������� ��� H��$ �� ���	 
��	����� ����$�� &	����I� ���� 
��	 �$�)�� ���� �������:   

1,008 / 6,023.10+23  =  0,000549 ME  
or AMUAtomic Masse Unit 

���)��� &	����I� &�	 	< ����,Absolute  ����$�� �;���� 
��	 ����� ���� 
 ��� 0��<������� �������� ��� 	���	,:   

me0 = 0,000549  /  6,023.10+23  =  9,1.10-28 g  

2.5.1.��!"�0� ���&   

 !�$	����I� �;� <��� �$�6 �*7>	���	 ����)��� �,	:   

eo  = 1,602.10-19 A.sec 

o b e i k a n d l . c o m
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>	��� 
������ &	����I� �-�)	Eeo = meo.c
2=  0,511Mev   

   ���� &N� �7���� ����$�� ��� &� 8	����� &�<   
�4#�� �4�� ���� &�� 
�# >
 B���� K�7�	 @����< 
������ B���� &� ���	 ������� �������� ��� >	���  

mv = m0 / √ 1-v2/c2
  

 
��#A� ��<	 Microscopes ,      �4������ 
;���� ���� ���� 2 ����$�� 
;���+  
  �< &	$�- ���	$  &��6,         �4-�)��	 
�4����� �4����� >	��4� ������ 0�1 �-�)�� ���$


������+�������� ���  �������:   

E0 = m0c
2

  

  �����?��� �������� ���	+    !�/4�$� ���� ���  Pulse  ��4#�� �   �4�"����� �
-�)��	     �� ��� �������� !����#�� ������� �	 ;���� &� ������� +     &4��� 2  @��4�

  ����;���� ����$�� +         ��� �� �, �$���� ���� )��$�� C�� ���$ &��	 + <  �	7���� >
 !�/�$Impulse��#�� �������� ��������� �$� ���;($ �������� �:  

P = mv.v  =  m0.v / √ h-c2/v2
  

    &< !��< �$�<  1 �($�� !��       &	$�- ��� �������� !����#�� !�-�) ��	�#� 0�
�<$     ������	 �-�)�� &�� >	������ 3"���� &��6+        �4-�)�� 0�� &	$���� ��� 5�)� @���	 


������ !�-�)�� V	�#�	Eges������� ��������� ���;($ :   

E2
ges. = (mv.c

2)2 @���	 E2
0 =(m 0c

2)2
  

 ����� �/�$�� >	��� >��� !-	�� �, P2 = (mv.c)2 + =���� 
������	m0   

m2
0 = (1-c2/v2).m2

v  m
2

vc
2-m2

vv
2 = m0c

2
  

������� �������� �$�)�� =������ �	/�� ����� ��	�#��� ��/�	:   

m2
vc

4 - m2
vv

2c2 = m2
0c

4  =  (mvc
2)2 - (mvv)2c2 = (m0c

2)2
  

           !2������ 3��� ��� �$�)�� 0��A� �, 
�	#	��� �������� !2������ 3���X�	
�������:  

E2ges - p2c2 = E2
0��"���� ������� �������� 5�6� �;$�	  :   

o b e i k a n d l . c o m
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E2ges = (m0c
2)2+p2c2 = E2

0+(p.c)2
  

1    �#�� �-�)�� V	�#� =���� &�    ���� ��"����� ���      �4-�)�� =4���� V	�#� >	��
 !�/�$�� �	�/� �"�� 
������ Pulsei����� �, �	/�� �����.    34��� ��4�	

��� ����� ]�6� �$����E��2 
����� �/	 
���.  

3.5.1.��!"�1� �!���� .������  Spin  

<  ���,   &��	��� ��/�� ���� �� Spin+   �4#�� 0)�� �    �4�"����� �� �4��   �4���F 
Planck    0�� 
��� 2π   ������� �������� ���  ..       �4, ��N� ��� 
�- J���� ��;�	

B�-	. 

S  =  h / 2π = 6,626.10-34 / 2π  = 1,055.10-34 J.sec 

S = 1/2.h or S = 1.h 

 ���)�$*��� 
����� ���� �� ��< Magnetic Moment�#��  &	�4���I� ��
�$	�6���+  ;$N� 8	��� ��	� �, �%��� R�$� �;$�$*� �%���)�  04�� ��N$ 8	� ���	 

B��6	 H���.  

4.5.1.��!"�0� ��#   

�  �,��� &	����I� �)-+         �� B��6� 	< >	��� &	����I� 3�6 ��N$ 3��� ��;�	 
+ 
    >	��� ���)- 87$ 
���� H��	 re +          �;�)4� 34�� 0�� �;�$�6 �-�) &	��	 

��	���� �#�����+�;���� �, ��<	 + ,%��7 >	���	 
�	#	� ��G 3���� �-�)�.   

  -�) V	�#� &��	!�    ��#����� 3	���� �       
�4����� &	�4���I� �-�) >	��E0+ 
�	;        �� 
��- >	��� 
������ &	����I� �-�) =/$ ����� ��  �;#Potential+  �-�)�� 

        ���)- 87$ =� >	���� �;�)� 0�� 
�	#	���re.         34��� ��4� 54��) &�	 
$=�)������ 
�	7��	 ��������� &	����I� �)- 87$ 	< �)- ���$ &< ���:  

E0  = meo . c
2  =  1/4πεo . e

2/2re  
2re  =  1/4πεo . e

2/meoc
2
 

2re  ≈  2,82.10-15 m   
re  = 1,141.10-15m 

o b e i k a n d l . c o m
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������� !��?)72� 3����� >��� !-	�� �,:    

1�&	����I� �$�6 : e = 1,6022.10-19 Asec  

2��"���;��� 3���� ����F : εo = 8,8542.10-12 c.v-1.m-1    

3�&	����j� 
������ ������ :meo = 9,1095.10-31kg   

4�i����� �, �	/�� ���� :  .10+10 m/sec7925c = 2,99  

5� ����F @$��: h = 6,626.10-19 Asec   

6.1 S'5�+�2� T5=� ,��	   Radian course of Electron  

��-	 )	)��� ���� �	;�
  &	�4���I� @�4��� !�-�)�� Radian Line and 
power  

��,���       )	)� �	;� ����� ���� 3� Radian  ����F &	����1 :     �4-�)�� &< ��� 
 ������ �, 
�	#	��� Radial power	 �;��6����	�	� 
	- 
���� ��	���+ ���	 

������� ��������� ������ 3��� 0�� �$�����:   

1 / 4πεo . e
2/r2 = mev

2/r2 and e2 = 4πεomev
2r.  

    �$��$< ��1 �$�	 v   ��� Bohr-Postulate    $� !�#	 ���� 0�	A� �   �4������� R
������� �,	�����:   

e2 = 4πεomern.n
2h2/4π2r2

nm
2

e = 4πεo . h
2/4π2rnme.n

2  
rn = εo . h

2/πe2me . n
2.n =1,2,3  

o b e i k a n d l . c o m
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     ��������� 0��A� �, 
�	����� !��?)72� �$���$X�	rn     )	)� 3�� K�7� ���� 
&	����I� �	;� ����+ �)- 87$ �#$ &< =�)��$ �;���  �4�� E?F� 3	A�  n =1 

  >	���r1������� ������������A�� :   

r1 = 5,293.10-11 .12  =5.293.10-11m 

	� E?F��,���&�#��	A� 
�� �, &	����I� @��� �;� + !$�� ��1n = 4 4, X &
>	��� �;��� �)- 87$:   

r1 . 4
2 = 5,293.10-11.16  = 84,688.10-11 m   

1 �� &�    �� ��N$ 8	� V	/	��� 0    37, �, E?7�� B��6 4   !�4$	����I� 
�- 
 &�#	���;�� 
�� �, 
���� 8?*�  

6.1. 1 <VVV�,�	 '- N)�VVV�� )W'�,��VVV"5 ( ���VVV��Rutherford Atom 
Model   

  

     �4�, &	�4���I� 8�6����
 �	A� �������	    �;��$ 
���� &N� &

      !����4# �4,�F� &� ��	$7�
!�$	����I�+   !�$	����I� H��	 

  ��$1�� ��# �   ��	�� 
��*7 !�
  H�44� !�44$	����I�	 3�644��

�  4;����� 8�7��  ;�47��	 � 
��#�" ��*�� !� Molecule+  >< 

<;$� � � B�6	%��   
��7�� �)�)� 
 ;/�� =��  	 C���� �  ����) =��

     ��� ���($�� H��	 
��7��� &	$�-
  �#	 �����2�	 ���#���!  ��G 

 ����7 ��G	 ��	���.  


���� 3��	� 0�	A� 
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1�0���� k��$�  ��# &< Henrich Hertz  �4�	��� ��� �$���A� Hittorf 
�	0$@���  Chatted Ray+	 <  ��4# &	�4���I� &< 
��F� !������� ��� !�F� �

��  E,�� 5��� ���� %�$��� � E��-� +�      0�� 3� �� ���	 < $	����I� &!�     !��� �4, ��� 
&������.       �$� �, H��� &� ��#	 1903   H����� Lenard 	 <     &� ��$�� 
���� &< �;(

     !�$	����I� !����#� ���*�	 �)��� 
��*7 
�	$+      ����#�1 &	�� &< �#� �;��	$	 
 (+)     I� &�� 
���� ��$� 3���� 3���� 0��  !�4$	����

 ����#�I� 
�	$��	 �������.  

           �$4� !4-	�� @4�� �, &��	1898  864���

	������+     >�	� 
��� !�6���	 Curie   ��6< @��� 

  !����#<  ���α+        �4, !�,�64��2� ��4� =����	 
     
���� 
�� �, �,����� �7��	 ��������+  !���7�	 

�����+  ������ 5���	 	   '��($ 
���� ��;� & '����)�	 � �
 # 0��  >����$I� �"������� �� Rutherford   &4� 

  �$�1937-1871    �$� �,	 1911   
������	< ��
H���?�+  %����� 3��      �$���A� ����) 0�� �Lenard 

 !�$	����I� 3����� 
� &��	Chatted Ray+ 3� 
   %���# �#	 �� 3�����   !����61 �α     &�4�� 5�4�� 

 ��$��� 5�-�.       5�� �-�) B� V��6I� ���	 ��<  &� �
) !�$	����I� �-�+        ���7 ����#�1 ����� !����# &� 8�Y� V��6I� ���	 
   &4� 

 
	��;�� 
�	$Helium ��� ����  �;����>	��� ������A = 4 >	��� H���	 2α
4 + 

  ����#�1 V��6I� �$�6	+   ������	 <       5	�� ���� &	����I� ���� &� ���7300   
�4� 
 &	����I� ����.    �;(< ���	   &<  �� 
���� ����� ���#�1 �;��+   � B#�	�$ ��<	 N  ���� &

    
��*7�� �;��	$ �, 
�	#	� 
����+  � �;(<	 N     ������ 3���� ��� &A    ��4� >	��� 
    
�	$�� �, 
�	#	��� ����#�I� !����#�� ..       !�4$	����I� &�4� 
���� @���� �-�)	

 
�	$��	!��� 1 ��"����, �-�) 21������	������ Electro static 	����� R�$� ���� @�
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 &�$F2� &��:      ������� !�$	����I� &� 8�Y��� �;,?G	 
�	$�� .     B��64� 9�	�$�� ���	 
  ���	��� ���6�� 9�	�$��+           ��4� >	��4� 8?4*�� �, !�$	����I� ��� @���	 

 
���� 
�	$ !�$�6..  

7.1 � � ���� B
@�� ���  

      � �#��$ 0�1 37	 
������ ��	,�F	� !������� ���N� 
���� 
�	$ & !�4���   �4��

���#+     '���#�1 �$	�6� �;�����# &< >< +� 	 <   ;$� 
���	 3� &�     �4;��� ��� ������� 
�������  ��#�	 &�	��� � %��   +�	�����	  
;$� 3��� !����#��  !�4$	�	�� Protons 

��	���# &	�	���� �� ����;� >	��� ����$�� ������ 1,00727 u mp =+  �4����	 
 >	��� ����#�1 �$�6<"��� �$�6 �*7  �4�1,602.10-19 Asec+   =��4� @��4�	 

   � &��	 B�������� ��	,�F	�N        '�4# ��*7 
���� ���$��� 
���� 
�	$ 
#� &�+   
�	4$	 
������� �������� >	��� ���)- 87$ 
#��� 
��*7 
��� �;����$ &< =�)��$ 
����:  

rp ≈ r0 .
3√A 

 >��� !-	�� �,r0%����� >	��� �: r0 ≈ 1,42.10-15 m   

8.1 � "
XF� ���� �� ���  


�	$�� �,�F�� ���� ��� ��< + , �;���� &�	� �	�� mp �;�#�	Vp   !4-	�� �4, 
������� 
#��� ������ >	��� 
�� 3�6� �;�#� &	�� >���:  

 Vp  =  4/3 π r3  =  4/3 π r3
o.A  

  �,�F���	ρ       ������ >	��� �����?��� �������� ��� m     
4#��� 04�� ��	���            
 ρ = m / v   

ρ = m/v = mp / 4/3 π r3
p  ≈ 1,4.1017 kg/m3

 

      0��A� �, �,�F��� ������ 3� ��� &�	+  � �$�<� N       �4����� �,�F� �;� 
���� 
�	$ &
'�#  %����� >	��� �     ����� �1,4.1017kg/m3+  H�$�� ���	  B$<       
�	4$ ���� �$�/	 ��1 

           �4��	 
�$4� B�?/< 3	) ���� �, �������� �,�F��� H�;� ��,�7+    &�	 &�4��
%����� ������������ &� 
���	 �$� �, 
����� B#�$� �� >	��� �.  
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2����
��Aא
�!א&@�א
=�,+����8א��0�/���?�����א��� �

1.2
+���� ��������' %�*Y���' %
YA0/?� ���+�  

1.1.2����� �� 	
��� �
��� �� 	
��� ���� Pulse power    

     �� ����� �	
�� ��
� ������� �	����  �	
���� ��
�� �� m  ���	� �	�  

V������� �������� ����� :   

P  p = m.v 

 ����� ������ ���� ���� !� �����" �#$ %&'�3  gr  ��	�(� �	
�� 500 

cm/sec) *����� ��
�� �#�� ������� �	���� !:  
Pp = 3gr . 500 cm/sec = 1500 [g.cm/sec]  

    � ���� 0�� !�F� =,�� &� ���) �$��)< ��1	���� ��� 0�� !?#�� @���+ >< 
<           H�� ��N� =,���� &� ���)�� 5�)� >��� !-	�� �, B$<     0�1 �;�/�$ 5��) ���)�� >
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     ��	����� �;�/�$ 
���� 
��A�m1.v1+          =,�4��� =4� ������ @��� >��� !-	�� �, 
���N�&  �;�/�$ 5��) �     ���)�� H�#�2 J������ H�#�2� �, +      �;�/4�$ 
��4- =4� � 

  ��	�����m2.v2      %/�< ��	��� !-	�� J�$ �, ����	     �4��)�� C�$ 
��- �+   &4��	 
      ������ ������	 =,����	 ����� ����� 5�)$� �������&     ������ H�#�2� �, �)�4�+ 

 ����#I� �������	����
  �4������� >	��� ������� H�� �-�)	 m1v1 = - m2v2 	< 
������� �������� ��	����� ���?)72�:   

m1v1 + m2v2 = 0  

  >< <             �4, 
;��/4�$ ������	 =,����	 ������� !$�� �F��$��� ���)�� !-	 3�- B$
�	��+ <    %��7 !$�� C�$�� 
��- >+�    ��� ���)�� ��� @���	 !      04�1 C�4$�� 
��- 

      0�� 3�� �� ���	 ��7<    9�	�$ �, !�/�$�� V	�#� & System    0��� ��;�	 5�*� 
%�"������F � Constant.  

2.1.2����� 2%��� 3� Rotors pulse   

 C�$�����"�>�
����� )� 0�� @������ 
�#�� C�$ ��G +3�   
�#�� ��� �	��
   
�"�� 5��)� �;� 0��+     ����� H�	�� 0�� �	�� 	< .   0�	A� ������ �, +   �4)�$ 

   
�� &��	��� C�$ 
����:    
�"�� 0�� >�"���� C�$�� +    
�� ��$�F�� ������ �,	 :  
��- 
    � �	���� 0�� &��	��� C�$����+        3F� ��"����� !����#�� &��	� ���� �, @��	 


�	$�� 3	� &	����I�+ �;��$ 0�� ������ &	����I� &��	� ���� �, 	< Spin.   

           ��������� &��	� ���� 
�#�� ���� 3�� 3��� &��	��� ���� �,...J   !-	�� �, 
>���&	��  ������  v ��	���� ����� 3���ω >	��� ��	��� C�$�� K�7�, Pφ = 

J.ω   � 8	����� &�	 N  >������2� 
���� &J A         
�4#�� 3�64� 5���� &�� 
�# >
 H�	�� =/		+      2 ��		$�� �������� J�� �, �$�	     �4$�;� 1     &	�4���I� C�4$ 2

>�"����+  &��	� >< I�&	����. E?F� =�)��$	 <   	< �4�� 04�� ���� B��6� �)�$ ��
  �,���r     H�� ������	 
���� 
�	$ &� + < �)�$ >   ��������2� 
��	��� ������ +   �4��� 
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��2������ ]?)7:  J = mr2 +    �4���	 >�"��4�� &	�4���I� C�$ 5�6� �;$�	
������� ���������:   

Pφ = mor
2ω  

   
	4- �4#	� &	����I�	 
�	$�� &�� &��	 1   �������4�	����Electro static 

power   3���� <      &	����I�	 
���� 
�	$ &�� �����#�� >	��� 	+     &	$�- ��� �� ����	 
������� �������� >	��� ��	�	�:  

P = 1/4πε . e.e/r2  

 2 0��	  $	����I� )��� !�        
�	$�� �, 
�	$�� 3	� ���;� 5�) �, 
�"���� +  �#� 
��	����� 3�7�$2� �-�) 0��mor2ω   &<   �4-�)�� 	< ��4#�� �-�) ��	��� 0���

��;($ ���� ����#���������� ��������� :  

mor
2ω = 1/4πε . e2/r2  

 3.1.2 4	#	�
	� ا�����( �� ���
  potential�ا���آ� �وا����  Kinetic(   

      E?*6 3��� 
�# ���7� �� ���� �-�)��+   E?F�  ..   B$�	 
�#G.[kg]   �4��$ 
 V����� 0�� B�-	� &� B�,�h.[m]������� �������� >	��� ���?�� �-�)��, :   

Epot = G . h  ( G=m.g  )  

��� �$�  8�g ������� ���?)72� ��	����� C�A� �����# >	���:  

g = 9,80665 m/sec2  

     C�A� �����#� 5���� 
�#�� ��� &��	+ ��?)7� ����	 �  34��� ��� B�-�) 
������:   

 B$�	 
�# =,�� E?F�G = 1kp+ �4�� V����� 0��  h =1. m   	< B4��� &4� 
B�-	�+       >	��� �-�) 	< 3*6 �$���� 1kpm+  < &���   3	�$ &1     54���� �$� 
�#�� &

C�A� �����#� B��� 	< B�-	��+   >	��4� �4��?�� �-�)�� �;#	 Epot = 1kpm. 
��$������	 �������� �, 3����� ��"����, 
��	 �$	�	����� 
��		�>	���	 :   

1kp = 9,81 kg m/sec2  
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      =-	��� �-�) �;# J��� &��	Ep      ������� �-�)�� �#	� ������� Kinetic E?F�	  
         �� V����� 0�� 0��< &� 
�# )�� ��1 @�� 0��+      C�A� 04�� �,	��� �����	 

,X������� �������� >	��� ������� B�-�) &:   

Ekin = mv2 / 2  

          2 &��	 ����� �-�) H�$� @���� 
�# 3� &< 8	����� &�	   �#� <  >	��� &
��	����� @����� ����� C�$�� 
��-  �-�): Pp = mv +A !-	�� �, B$ �-�)�� >���

@������ 
�#�� �, �	#	��� 3*6�� �;(� �������. 

   	� 0��<       E���� !��� ���� J����� &� ���)�� E?F� �$���+     >	��4� �;$�	 ����	 
3gr ��	����� �;����	 V = 500 cm / secv, X    >	��4� �4������ �4;�-�) &

��������������� :   

Ekin = mv2/2 = 3gr.(500cm/sec )2=3.250000 / 2 = 375kgcm2/sec2  

     >	��44� �44������ ��44���A� 3*644�� 
�44�	 &44��	w/sec�44�<	                        
1w/sec = 1kgm2/sec2

  

4.1.2 ������� (	�5�6�� �
 4	#	��� 4����   

    ��	��44��� �44-�)�� 
�44�	 3����44� �44�		$�� ��44������ �44, �447��
Electron Volt =eV.       �)�� H�� 
��	� �7- �� 
;��$ 0��	    �$��� �-<   34���$ &

%�	�$<� '�#�#� � E��*� �   EG��,	 &��;#�� &� �  ��	;�� &� +       B���� �, �;# 3� &� >	��� 
   ��	� 0��< ��	� >&� Electrode $F� ��&:    ������� ��	��� Chatted+   �4���#�I�	 

Anode. l	   $F2� &�� =/�    	, B���- �"���;� �;# &��    �4��	 !1Volt+   54�)$�, 
&�Chatted �$	����I�     0�1 V����� !Anode   �����	 
��7� ������  2  ��"�;$ + 

        >	��� �-�) !�$� &	����1 3� �;� 3�����1eV+     ��	��� &�� �$�/	 E?F� ��1	 &� 
    B���- �"���;� �;#50000     �4#$ !�	, <   �;$�� �4-�)�� &"      04�� 
�	4#	��� �4�

;���� �, !�$	����I����	��� &�� &� >	��� 50000 eV+  !4�	, &	����1 3�	 
$�6B�>	��� :  

1eV = 1,602.10-19 A.sec  
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 ������� ��		$�� �������� �, ��������� ��"������� !���	�� 3	�#� ��"2 �)�$ �$�
;$� �F�����	�:   

  

5.1.2 ���*	6�� �� ��
/!��    

 8	����� &�< !-	�� 0�� ��	��� �-�)�� >	��� 3*6�� 	< �;#�� &L = E/t+ 
/ �-�)�� >	��� ��FN��� &��	 !-	�� ��W = E.t+ ��/ >	��� ��FN��� @���	 
5��)�� �,���� �/��$�� 
�����W = Pp. s  =  mv.s+ �7��	 �,  @�4��� 
�# 

  
�"�� �;� 0��+             
�	�4� �4;��� 
�	$ 3	� &	����I� &��	� @��� ���� �� ��� 
5��) 3	) >	��� 
���	  
�"����s = 2πr+   >	��4� 3�4���� ��FN4���	 mv.s=  +

mv.2πr� �, >��� !-	�v = rω  ��FN��� K�7�, W   
�"��4�� �4, &	����I� 0��
������� �������� >	���:   

W = mr2ω2π  

              ��	�4�� �;���) �;� �, &	����I� C�$ ����� &�� 5���� �$� �;(� 3��� ���	
 >	�����  
�	$�� 3	�Pφ = mr2ω�;$�� 5����	 
�"���� &	����I� �����, ��FN�	 � 

>	��� 2π.  

2.2$��  ���+�� ��Relativity of Masse  

      ��I� !�#	��� ��	�#� 0�1 �	/�� ��$� ���������)�$*�	�+ ;$�	 �   !�4#	� 
    
��7��� &� �7-A� !�#	���	 	������+  �������� !����6I�	 +     �	/4�� @��4�	 

  ��G��    !����61 3F� �	($�Reontgen+    ��G !����61	 γ +      �4������ �, &��	 
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    	 =�	�� !����6I� H�� 3�          ����4� ��	4;�� &� ������ i����� &����� �, V���
��	����� i����� �, �	/�� ���� >	���:   

C = 299793 km/sec  =  2,99793.10+10 cm/sec  
C = 2,99793.10+8 m/sec 

    ��	/A� H�� &��	�  ;/�� &� 5����       B���� ��� �	/ 3� ���?7� C���� 
 �44#	��� 3	44)�λ+ ���44���	 frequent ν+��44� 344��	  !�44#	��� 344� �

I��   ������ &	$���� 3����� ���)�$*�	���: <      ��/ ������ >	��� �	/�� ���� >
������� ��������� �;(��� �#	��� 3	):  

C = λ.ν  

i����� �, �	/�� ����� ���� ��� ��<	+ �,, T��� ����< �;X !��	F�� T��1 �;$
   �������� �, ���)��� ������. , X    �� ��$�� �����) ����F �;$  ��/��� )�)��	 
���+   @��4�	 
   �< �"������� 
����� ��6$$ I &��6�#�        !������� ��� &� !��< ���� ���($�� ����$�� H�

     ��/��� �, !����)���	 !������2�	<         ���4� ��m �� i����� �, �	/�� ���� &
 
��� 	< 
�# =�)��� &<;� @�����.   

          ����� @���� J��� &� 5�) =�)��� ��	�7 &	�� &��	2U�   ����A� &� 8
 ��$�F�� �,+    &	����I� @���	 �  ��	� ����� =�)��$  
�	$�� 3	� B &<  � 2U� T��� 8

   ��$�F�� �, !����	����� &�+   &��	 ��� &<         ���4� &� ������ 
��#A� H�� ���� 
�	/��+ , X    ;��� &� ��	��� �-?� �;$�  ;$�	 	< �  A V������ ;��� &�   K�74�	 �4��� 

< E$�	 ����  �� 	< ���+   , V������� 
�#��	 X B����� B$     E?4����� K�74� ����� ��;�+  
         �;����� &� �)�$ ��m 0�1 �;���� 37� ��� 
���� 3F� Acceleration 2  �� 	 �

  
���-�� �� 0V����+        �4;���� 
��- 0�1 �7�� �$� �	�� �����	 +   5�4��� &4��	 
     2 ��/��� �, n	��7 5?)X� �	#	���   � ��� ���� N    B����� 37� &10�   ���4� 

�	/��+       �"����, ����� 3� ��#	�	$���� ��/��� J�� �����	 D A     n	��74�� ���� &
  ������ ������ ������+     >����� 5	, n	��7�� &�	 K�7�	 +      
	4- V�4����� 0��	 

, 5?)$2� @���X;$�%��$ >�#� 2 n	��7�� V����� �+ >��� &	$���� 0�1 �	�� ���	 
 B$N� 3	�� 2   �#	� <  �"����, 
�# >   '�< B����� =�)��� �   !$�� &<    ���� 0�1 37� 
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  i����� �, �	/��.         '���� 0��� ������ V������ ������ �, ���$�� ������� ���	    �4, �
     H���$� >< &	�� ��#	�	$���� !2���� 3�+          �4����� �4����� �4���� >< 
������ H��	 
     , �F����� !������� �, �;(� ������X      �4����� �4#���	 ���7 �)�$ �;$   34�� 

 ��������� !����#��+    �	�� ���	   0�1 � 8	�����N ��#�� &�    >	��� �;���� 
������ �
m0 

  + ��#�� ���� J���� �������� �/��$�� �mv+��#�� &� 5���� H��	 � 
������ �
������ ���+������� 
�	����� ��������� ����	 �;(�	 :   

mv  =  mo /√1-(v/c)2
  

     !�$	����I� C��� ��"2 �$�	        
;��4� �4���� ����4$	 �����4���� ��������       
mv / mo������ ��*� ��� :   

������  [cm/sec]      �-�)��[MeV]    3���� ��*� ����$mv/mo   

 1,020                  0,01                             5,847.109   

 1,196                   0,1                              1,682.1010
  

2,957                    1                               2,821.1010    

20,58                   10                              2,994.1010    

3.2 Z
�32� �F �:
6 Power of Quantum ray   

     ��� >A 8��$ 0��!$��       ��"	/ !�#	� !����61 3���1 0�� 
���- 
���� + 
#�  �$��� �<
��#A� =�6� ����A 
���� &	$���� 
;��$ &.  8	�4���� &�	 <  34� &

      B� 0)�� �� ��� 
�#  &�          �4�"����� B�����4# ��;� 	< K#�N�� 	< 3����� 
����
 !����61 3���	 &	��      !�#	� 3	)� ������ ������� �, +      ��1 H��$ �� ���	 < �$���

    � �$�,�	 ������ &� ��)-���   ���� �#�� 0�1 �;��+    %���61 3��� 	< =6� � '����� �. 
���	 !$��    H��   ��)���   
������ V������ R�	�� @���+      �	4/ !�#	� @��� 3��� 

�	($�+
      0�� 3�� �� ���	 <        �47���� �;�#	�	 �;�����61 �-�) �;� 
���� 3� &+ 
   =�)��$ ��;�	<         3� ����)� �;���61 ������ �#	� 3�� �;($ &Graphic   3�64� 

!��$�$�.� �($�  ���	��� 
��#A� 0$�$������ 3�6�� �,:  
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   ;� �	7���� ���	��� 
��#A��  4;������� � 
    ������� 
��#A� =�< 4;$�     
���4��� J�$4� 

   )����� J�$	� 	< =6� 0��< !����61 3��
������� 
��#A� &� ��F��.  

    '��($ >������ V��6I� &	$�- ��;(I	 �
'�����+   
�-       ��4��� &� ��F� &���� @�� �,

  !2��44���� 344��� &��44��# ��44������
      
�� =� �	�#�� 0$�$� 5��� !������2�	


������+     T	�# &	�� ��� ��� &��	 1�0 &< 
  �$4� �4, ��# 1900   �"�4������ Max 

Planck �)��� ������ ��?��� ��� =/	,  
  �;(�<         
��4��� !����4# ���4��� 	< K#�N� &

   � 
������ &� 
���7��J� 1     C��4$� 
�	47 2
����> Oscillator        �4����� K#�N4�� 	< �4�;� 

  �4,	��� 
���� Frequency+     �4-�) �4)�� 
   �,	��� !��,�� !�#	�� 
��*7+     K#�N4� 34F� 

     %�#�N� �)�� ���	 ��*7�� ������ ��-��  ��� 
 =,��� �-�)+    >���4��� C��$�� ���	  Oscillator 

      �4)�� 
��;��� 
����� !����#�<    �4-�) �*47
  
�	#	�1�0 �U 	 &< H�� �$���    �-�) ��"����� �-�)�� 

��*7�� 
���  

Eq=Elementary quantum energy  

     @$�� J�� 3�- �$�	<   
��� &Quantum  ��� 
   �	�� &	�� 
��� 3���.       �4#	 �4�?��� ��4�	 
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    �������� !����6j� B������<  
��� �-�) & Eq !��� 1    !����4��2� ���� ��/ 2 
ν+  �	7���� ><  Frequency+     @$�� ����F 
��	� h �       
4��� �4�"����� �-�)�� �$�)�

������� �,	����� ���������:  

Eq = h.ν  

        3� ��"����, 
��	 !-	�� @�� �, �)�< �-�)�� H�;�	 erg     34��� �����, ��FN�	 
�� 
��	� @$�� J��4erg>	��� ..  

 h=6,6262.10-27 erg sec 3	#�� 
��	� ��	����� h = 6,626.10-34 J sec   

1 Joule = 10+7 erg. 

	                �4,  
�	4#	��� 3	��4#�� =� !���	�� ��"2 �($� !���	�� 3� �,����
E���� ��"?���.   

     � @�� 0�� E?F� �)�< ��;�	�,���         V��461 �4, 
�	#	��� 
��*7�� 
��� �-�) 
 B�#	� 3	) >��� ��7A� �	/���>	��λ = 589,3 nm+   B4������� ���4�	 ν 

>	��� ν = C / λ������ ����� >< :   

ν = 3.1010 cm/sec / 589.10-7 cm.sec = 5,09.1014.1/sec  

>	��� ��7A� �	/�� V��6I� ��;� 
��� �-�)	:   

Eq = ν.h  = 5,09.1014.1/sec . 6,6262.10-27erg sec = 33,7.10-13erg  

3	���� >< �F����� !���	�� ���	:  

1erg = 10-7W sec and .1Wsec = 1Jule sec 

3	#�� 
��	� >	��� 
��� �-�)	:   

Eq = 33,7.10-13 . 10-7 =  33,7.10-20 J sec 

    �� �-�)�� H��	<  
� �-�) �*7 Quantum        �	/4�� V��461 �4, 
�	#	� 
��7A�.  

1         &�� &����� 0�1 �$�7	� 
���� 
�# 
��-< �, 3	���� & Microphysics  >��� 
     
��#S� �*7��� 
���� 	�< 
���� >+         ��4������ �4, B������� ]�)� >��� �$�F��	 
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���     B���$ 
������ 
��#S� �����?Macrophysics  . �� ���	  4Macrophysics 
   ���� 	�1 �� 0�  4Microphysics+   �$� >��� ���	  �Y       &�4�� B4� 
��� !2�� ��

�����2�.  

    '��)$� E?F� �)�$ @��� �$�	� %�$�� �      �#	��� 3	)	 �	/�� 
��- V	/	� 
;���  
E?F�:   

     &��$I� &�� =�)��� 0��<   ���� &)T��(        3	4) >�4�� 5��A� &	��� �	/ 
  >	��� B�#	�λ = 500 n.m  + �#�<  3��4$1 &��$I� &�� ���6 0�� )��� &

 �	/<	�� 
��	� B���- 5����� )�>	 Efficiency:   

P = 2.10-18 watt  

��7'��:  

 �	, 
�	& Photon   �#� <        ��$�F�� �, &���� ���6 0�� =�� &1sec   !4$�� ��1 
�	, 3� �-�) 
��-	� &������� �������� >	��Z  

E1 = h.ν  =  h.c / λ  

 3	�$ �$�: !-	�� �, ��� (t)��� &���� ���6 0�� )���  n&	�	,  ..  
�4��	 3�
 !�$	�	��� H�� &���� 
��- �; 4Efficiency������� �������� >	��� :   

P = n . E1 / λ  

        ���?�� !�$	�	��� ��� 5�6� �������� H�� &�	���   �$I� &�� T��    &	4��� &�
��;($ 5��A��������� ��������� :   

n = P.t / E1  =  P.t.λ / h.c  

    !�$	�	��� ���	Photons         5��A� �	/4�� ��Y�� ��$�F��� &���� 0�� �)-����
>	���:   

 5≈  n = 2.10-18w.1sec.500.10-9m / 6,626.10-34Jsec.3.108m.sec-1
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4.2+��' B�D�� <�
��  �B
�5  

($ �	#	 !-	 0���� ���4Quantum theory+ <    >�4($�� 
4��� �4���� >
������+         ������ !����� =� V����� !�#	�� ��N� &	�� �	/�� ��� +  !�#	� ����	 

        ��� ���� ���� ����� B#	 0�� !�#	��� 3F�� �	/���        ��4� B4#	 04�� �#� �
  H��G 	< =�$���.          3F� ��;��� �	/�� !�7�7���	 !����� !��� ������� �, &��	 

$2�   �;����� 8���$2�	 ����$2�	 J���+        !�4#	� !��� @��� ��	�7 &	�� &��	 
       ����� K)� 0�� ����$��� !�#	��� 3F���	 B��6� �	/��+  3�4��I� ���($ �	#	�	 

�	#	 >< &�	�$� The Emission theory +  !�;(N4, !,�� ����<  �	/4�� &
!����# &� 8�Y�+�$	 !�*�< ���($�� H��	 ���# ���($ �	#	� ! ���($ !��< 
�

�;��� 8������ ������� !�#	���+���($ ��	  Huygens����� � ���($� 
 Wave 

theory     �� @�� �, !��< ����  < !-	    ��G 2 !�#	� �	/�� & .    8�64���� &4��	
 @$��� 
��� ���($Quantum theory!���($�� &� 
���# ����� 0�1 �$��� + ��#	 

      &��A�	 &����� &� 3� 3�Y���<  &$��   ���($ @Huygnes <  !�#	��� ���($ >+ 
    &�	�$� !����#�� ���($ 0�1 �	�$	Z   4� 8���$	 N       ��64�  !����4# �	/4�� & 

Corpuscular elementsZ=�$� ��� 
� �)�$ 0�1 �$�7	 �$�	  �4;��   !�4$;���� 
���($�� ������� !���($��	+ &��	!����)���	 !������2�  �������D @�� �, �$�� ��1	 

� 0�1 !-	�� 3����� �����#��� ������Hallwach effect'����)� !$�� ����   ����)� �
�����2�+ >< < B$< ��Electroscope+�	/�� ����� 
��� &� ��	� �;��� =/		  

amalgam Zinc+  ��;#�� ��� &�6	 �I�oc���� �	��	��� �)� ( ��/- @������
��p� 
��# 3�� ����� �, ���#�� @	6�	��� &�+���  0�1  
�4�Instrument fore 

    %���# ��U� ���� �;(� ><�  B�-	� �, +        
�4)���� ������� �$�6�� ��- 0��	   &	4��
 @���� ��G+               ����4��� �4�	��� 04�� �;#�� ���� �	/ V��61 �$���< ��1 �$�	 

 H?�< 
�	�����+      04�	A� B���� 0�1 �	�� ������ �;(� T�$ �  ��74�� ><�  34�- 
������� �$�6�� B"�)�1������� 
�	7��� 
�;(� ��U� H��	 :   
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     !4�� �;(< �� ���	
   � �	/�� V��61 ��FN�N &

     !�4$	����I� &4� ����
    !����	 !��� ����< 	

 �44�	��� &44� !44#��
�������+     �4�� &� �$�	 

   � &��� 
������ !������2�N     &	����I� 	�	��� �-�) &Photoelectron   &� �F��$��� 
     �;# &� �F��$� &�� 
� 
�����     �4������� B���-	 >	��� �	/�� +       ���4� &4� 34� 

�	/�� !�������Frequency .�< !��- ������� ���	 $ 4� ]�6�� ��� 0�1 &��6N &
   !����61 &� 8�Y� �	/�� Corpuscular  +    B�����61 !����# !���Photons 

!�$	�	,+   ;$� 
���	 3�	 �           �4,	����� �4������� >	��� @$�� ��� 
� �-�) 3��� 
�������:   

Eq = ν.h  

              �4�G !�4$	����I� B4� �	4#	��� &����� 0�� !�$	�	��� H�� )-��� ������	
���)	���+ < 
���� >+    &����� 
��� 
�� &� +          
��*74�� �4-�)�� H�4� 
��4-	 < >
��4Quantum      
���- �	/�� �, 
�	#	���  < 0��      B�4���� &� &	����I� ���� &

>����+ <   � 0�� 
���- 	N   &����� ��� 
�� &��+  0��4�	       �4�"������� �4������ H�4�              
Photo effect.  

  &< �;� �	7����	:"          ����$2� 	< ������ ����� �-�) >	��� &	�	��� �-�)�  �4"�
	�	��� ������� �-�)��  &	����1Photo Electron ."  

 �� ���	<� �;(N ����� &Photo effect2 � 
� 
��� �-�) !$�� ��1 ν.h < �*7
   � ����� �-�) &������+ <   &����� &� &	����I� 3�7�$� 	. �4� &�� ��1 3� 0��	 � 

       H��G 	< 8	��� &��� &� ���� ���$��� &	����I�+   &��	 � 4E����� 0���  �4#	�� 
 =6��� V��6I�+  T�$ �$�	  B$<        ������ V��6I� �#	� !$�� ��1 ,  � H�$�� ��;N  ���� &
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������� ��*7 B�+         ����$� 	< ���� �#	� 2 ����� ��;�	 �    &�� 	� 0�� !�$	����j
  %����� �	/�� �;#� '�# �+  J����� &��	 +       !�4$	����I� ���� �����	 3���� ���� 

          &	����I� ������ ��,�� ������� 	< ������ ����� &	�� ��� 
����� &�+    @��4� ��;�	 
 ����� ����Photo effect E���/ �	/�� &�� 	� 0���E����	 � � &4��	 � ���4�  
Frequency   >< ����� ����� .       ��4��$2� 	< ���� ������ ���� ��� &��	+  ]�46 

�<$     �� ����� �;�F�	 ������� H�� &��6
 �2	A� +        �#� 9�����	 
�� 5�)� ��� >< < &
   ���$� &	��  0��        a�� ��$�F 
��� !��)7� ��1 0�� ���?�� �-�)�� 3-A��� �4;+  	< 

   ��� ��,�� �;�-�) &	���     �� &� 
�	7���� 
���� H�� K�;$� .. 3	�$ �$�	:     �4� ��4�	 
      B�;�� �"	/�� 
��� 
��7� 
��- ��FN� 3F��+   � ��� ���	 Y    !����� �����2� &��� ��

 �� �-�)4 Corpuscular  ��#�� ����	 �   �F��$��� �< &	����I� >+  ]�6�� ��;�	   =���
����6��	 ��"	/�� !������� !�����	 ���7�.  

F�	�@�� 0�� E2:   

%��$���� ��FN� 0�� ��"	/	�;��� 3����� Light Effect+   &�4�� 04�� �#� 
Cesium44� !�44$	�	��� B44��� 8	�44���� N !�44$	����1	�	, B44$� ��44��� &

Photoelectron+)-���� ������� !�$	�	��� �-�) &	�� ��� �>	��� &����� 0�� :  
Ek = 3 eV+>	��� !�$	����I� ������ 3*6�� �-�) 
��-	 Ea = 1,8eV.   

��7'��:  

1�   
�   �#�<            	4�	��� V��461 ���� ���� �#	��� 3	)� 07-A� ���� &	�� &
!�$	����1Z  

2� 87 T�� 	< 3�#� >< �, Seri  V��6I� ��� �#	� .. Z  

���� :  

           ��������� 
�)���� ������� ����� �-�)	 )-���� V��6I� �-�) >	��� 
��� �-�)
�������:  

h.ν = Ek + Ea  = 3eV + 1,8 eV = 4,8 [eV]  
ν = Ek+Ea / h  c = λ.ν  
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λ = c/ν = c.h / Ek+Ea 
λ = c.h/Ek+Ea = 3.108msec-1. 6,626.10-34J sec / 4,8.1,6.10-19 J =  
λ = 2,59.10-7m   

44� �44#	 �44$�N 5	44, V��446I� 844�) �44, �	44#	� V��446I� ��44� & 
�#��$���Ultraviolet  

5.2 5�W[�  S��$�F ����
" Compton effect  

   	�$ V	/	��� ��� �,	 O&�4F ������ 0�1 �   B4� �4;($ <  !����4# �	/4�� & 
Corpuscle  + !�$	�	, ><.          	 
��4� 04�� 8�4�� ��� !�$	�	��� H��	  4� 
�)7
  &	����I����     &	����1 	�	, &����� &� ����� �� Photoelectron     &	4�� �4�� 

  �4������ �-�)�� >	��� �)-���� !�$	�	��� ������� �-�)��Ek = 3eV+  @��4�	 
���� 3*6 �-�)�� Ea = 1,8eV  V��61 3��$ ��� 	<Roentgen �,	��� �#	�� 
 3������� 0��+ , X !���#�� 
�� 0�1 ��6��	 8��$� V��6I� ��� &+   H�4;� 3�4��	 

 '���� �������   ��6�$2� 	< ��6��� �.        !�4#	��� ��*� 5��) &� ]�6� ��6��� ���	 + 
 H���� >��� ��6���� V��6�� ������ 	< ���� 5��) &� J��	<7 ����� ���� &� �*

   )����� 	< )-���� V��6I�+       ��6��� ��	�� =�	� ���� ������� H�� 8��/��	  . �$�
        �$� �, �����	 �����A� �"������� &	���� ��#1929   
���4��� H�� +    
���4� >< 

��6���+       � 
��F� !������� ��� &� R������� �#	, N    E����� J�� ������ ��*� &�  ����)� 
  � )����� 
�����      �� V��6I� �;#� 5���� &��	 V��6I� �;���    V��6I� ��*�� ��*�� >

B��$.           &	4���� ��FN� ����� �;(� 
���� !2����	 ����� !���($ ��/��� H�;�	 + 
=����� ]�6��	 !2������� �;��6$ 8	� ������� H��	.  

  � �$��� ���N       3������ 	� &	���� ��FN� 3��� &<      )-��4�� V��46I� &�� 3������ 	 

��7��� &	$�- ��� ������� �	�$��� &	����I�	+ �4, 8	��� 	� ��� Macro 

Physic      ��;�	��� >��� C�$��	 �-�)�� ��� ���	 + ���	  ����  V��61 )��� ��� 
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     &	����I� =� 
�)7�	 �����  ��)   ��4#$ 
���� !�$	����I��       
��4� �4, E?F4� 
Lithium ( ,X&   ��4�
  V��6I�    &4� 8�4�$�

  B)��� 5��) �;�.  �,	 
   %��- �)�� !-	�� J�$� 

     04�1 B�/�$	 B�-�) &�
 ��44����� &	�44���I�

8	�����. 	 1   ]�64�� &
    �/4�$��	 �-�)�� 3���	
   !��?)472�� 0)��

�������:   

<E2	:                �4�� �4���� 3� !��6 �$�  
��7��� ���	 3�- �-�)�� ����� ���� ��� 
�;���:  

hνp                  =  hνs    +              c2(me/√1-(v/c)2   - me) 

  &	����I� �-�) �����..     
��7��� ��� V��6I� �-�) 
��7���� ..    V��46I� �-�) 

��7��� 3�-.  

%�$�F�:
��7��� ���	 3�- C�$��� ���� ��� @���	  Pulse  Pp  = Ps + Pe   

Pp  =  hνp/c ;            Ps = hνs/c ;         Pe = me / √1-(v/c)2  .  v 

 I� C�$  
��7��� ��� &	����..    
��7��� ��� V��6I� C�$  ..   3�- V��6I� C�$

��7���.   

 �-�)�� ��#� ����� &�	< >Power carriage sediment+ &	���� ���� =��� 
    	� >��� ��6���<     )-���� V��6I� ����� ���� &� �*7+     3	)< �#	��� 3	) &��	 

     )-���� 0�	A� V��6I� �#	� 3	) &�+�  �� ����)	       V�4���� ��4;(I ������� 3�

o b e i k a n d l . c o m
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   �4��$;�� �4�F��� 
�	74�  ������ 3��� 5��) &� H��N$ �#	��� 3	)A B C 
 �, �;(��������� 3�6��:  

       4� 	< 34� ����� �, &��	��   �4�*� �
        34��� �4����� !�4#	��� 3	)	 !�������

������� �������� ��� &	����:  

 BC2 = AC2+AB2 - 2AC.AB.(cos θ)   

  ?)72� 3� =/	�	     
;�4$��< �4, !��
������� �������� 0�� 37�$:   

  

me
2/1-(v/c)2 = (hνp/c)+(hνs/c) - 2h2νpνs/c

2 . cosθ 

�-�)�� 8-	 ����� ���	 Power Carriage sediment    =4,�$ �4�� �$�)��
������� �������� =������ ��������:   

me
2.c4 / 1-(v/c)2 - 2me

2.c4/√1-(v/c)2+me
2c4 = (hνp)

2-2h2νpνs+(hνs)
2   

    � ��/� 0�	A� �������� ���	c2    ��$�F�� �������� &� ]�)�	 +     04�� 374�$ 
������� �������� >	��� )��� 3�	��:   

1)�me
2c2(c2-v2) / 1-(v/c)2 - 2me

2c4 / √1-(v/c)2+me
2c4 = 2h2νpνs(cosθ  

������� �)����� �������� 5�6� ������� H�� &�	:  

 me
2c4(c2-v2) / c2-v2 - 2me

2c4 / √1-(v/c)2+me
2c4 = 2hνpνs(cosθ-1)  

2mec
2(mec

2-mec
2/√1-(v/c)2 ) =  2h2νpνs(cosθ-1)  

�-�)�� ��#� 8-	 ����� ����	 Power carriage sediment ������ ������	 
����� 0��2������� �)����� �������� 0�� 37�$ :   

mec
2(hνs-hνp) = h2νpνs(cosθ-1)  

 0�� �������� H�� �$��- ��1	.-hνpνsmec������� �������� 3��� 0�� 37�$ :   

c(1/νs-1/νp) = h/me . c(1-cosθ)  

>��� !-	�� �, �#	��� 3	) 5�, ������ 5�6� �;$�	c = λν 	< λ=c/ν  

o b e i k a n d l . c o m
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Δλ  =  λs - λp = h/mec .(1-cosθ)  

 ��	����� 5������ )-���� 0�	A� V��6I� �#	� 3	) ����� 0�� 3�� �� ���	 θ+ 
	<	��� 3	) &��	���� ��� ���� �# >	��� K�7�θ = 180º+� @��� H�$�� ���	 N &

 �;(� �������� &<   �#	��� 3	) Δλ        �4#	��� 3	) 5��) &� ��*�� λp   +   &4� 	<
   ������ �����νp   +  E����� J�� &��	�        !��F�� 3������ &��	 )-���� 3	A� V��6I�� λc 

   � &����� &� >���N      �#	��� 3	) ��*� ����� 87$ >	��� &+      ���4$ ��4;�	 λc 

 
������� �������� ��	����� &	����I� �#	� 3	) &	���� �#	�:   

= h /mec  = 2,4263.10-12 m λc 

 3����� ���	+ <  >λc+             )-��4�� �4���� V��46I� 
��74� ����� �, B���- B� 
 ;���7��	 &	����I�	�      �-�)�� ���7� =��� &���� 1�0        �4$� &	�� ���  �;��- 0��< 

 J�$ &�$F2� 3���� + 	 1            &	$�4- ��4� �4���� V��6I� ��� �;(� &	���� 3��� &
�<$ ������	 �-�)�� >	���� 3"���� &��6+ >< <$B �)-��4�� ������ &	�� ��� m  >	��4� 


������ &	����I� ���� me+������� �������� ��� ������ H�� �, H��$ �� ���	 :  

m = hν / c2 = me  

72� 3�	�� =��� ������ H�� &�	������� !��?):   

ν = mec
2 / h       or      λ = c/ν  =  h / mec  =  λc  

        ��� )-���� ����� V��6I� &� ����# ��� H�$�� ���	�;�      &	�4���I� �4��� 3F� 
 �;� 
�)7���+ , X        &	���� �#	� 3	) >	��� )-���� V��6I� �#	� 3	) &+  ��;�	 

!����61 0�� 
���� &	���� !������� !$�� �����Roentgen ��G !����61	  
γ   DA         &	4���� �#	� 3	) 3���� !����6I� H�� �#	� 3	) &.     �4������ H�4�	 

     �4�	���� &	4�� �4�� �"����� !������� ���� ��*� �$� �;(� ������� ��������� 
�)����
>	���θ=90o :  

Δλ/λp = λc/λc =100%  

o b e i k a n d l . c o m
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E?F�	  @�� 0�� :   %�	/ �$��< ��1 � %�	($� �     &	��� �	/ 3F�    B�#	� 3	) 5��A�
����/�� >	��� λ = 4,8.10-7 m  +'�# 
��*7 �"����� B����� ��*� T�$,+�%�����  �

 ��	��� ��G.  

  %Δλ/λp = λc / λblu = 2,4.10-12m / 4,8.10-7m = o,5.10-5 = 5.10-4
  

F�	 �%�$�F E2�%/�< 
;���� �:!����� &	$�- V	/	�  Compton  

>	��� B�#	� 3	) 
� V��61: λ = 2,000.10-10 m +    &	�4���I� 8��74�
��    B�� 3���	 ��  �,3����+           �4;���- �4�	��� V��46I� ��� ��6�� ������� H�;�	 

>	��� :θ = 90°    

��7'��:  

a ���6���� V��6I� �#	� 3	) 	� 
� Z  

b � &	$�- ��� �-�)�� 
��- �� 
� Compton�� � ��&	����I� �;���Z   

����:  

a �   ��� 8	����� &�    &	$�- Compton � N      >	��4� !�#	��� 3	) ��*� &
������� ��������  

Δλ = h/mec.(1-cosθ)     cos 90° = 0   
      = h/mec = 6,626.10-34 J sec/9,1.10-31kg . 3.108 msec-1  
Δλ = 0,024.10-10 m  

>	��� ��6���� V��6j� �#	��� 3	),:  

λ2=λ1+Δλ =2,000.10-10 + 0,024.10-10 = 2,24.10-10 m 

b� &	$�- ��� &	����I� �, 
�	#	��� �-�)��Compton>	��� :  

 E= E1-E2 = h.(ν1-ν2) = hc.(1/λ1-1/λ2)   

E = 6,626.10-34 Js.3.108ms(1/2,000.10-10m - 1/0,024.10-10 m) =   
E = 1,18.10-17 J ≈ 72 eV 

1 Joule = 6,12.1019 eV  

o b e i k a n d l . c o m
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� �$� �;( ����N V��61 
� & Roentgen � ��	��4��� �-�)�� @��: E = h.ν  +
      
��*7�� ����#�� �-�) 3F�� ����Corpuscular+  &	�	��� >< +    34������ �����	 

   � 
��7� B��6� �$�	   �������� �Billiard <    &	�4���1 =� &�	, 	� �
 �4�, �  ��4� K
     @��� ��	 �� �;# 0�1 &	����I�+  &	�	��� >< +        H�4�	 T�4�< �;# 0�1 8��$� 

  -�) =�/� &	�	���   �;,���$� �-�) 3���� �+      �4������ 8�/ &���� ��"�/�� �-�)��	 + 
�-�)�� >	��� 
��7��� ��� ��-���� �-�)��	: É = h.ν  �	4�� �-�$�� ������� &< >< 


��)72� ��� &� &	����I� ���7��.  

    &	���� ��FN� ����� ]�6$ �$�	D , X 2 �;$   ���� 1  2  ���$�    V��461 
� 
�)7�
  &	����I� 0�� &	�	,  
���� �, +      8�4�$�	 B����� ���� &� =�/� +   &	�4���I�	 

  
�)7����  �7-�$�� �-�)�� ��N.    � &	���� ��FN� �����	 �      4� 
�4�Y��� �4������ N &
3�Corpuscular!����61 &� 
��� !����61 3� ����) >	��� Roengten  0�1 

�	/�� !����61 3�.  

6.2 �F ���F �B�D�  

      ���� ������� !������2� 3� ���	      ��"	/4�� 
4��� !����61 &� !���+ < >
!�$	�	���+ �  � �$� ��NN      !����#�� 3� 3F� ���� @��� &	�	��� &+ 	 <   ���($�� H�� �;(

'����)�    ��	��� �"������� �Lebedew    �$� �, 1901+� N  �46 �-�) H�$� �	/�� &
< &�	 	+      ������ &	�� ����)� ��	� =/	 ��;�	 + 	 <    %�	4/ �4;��� )���   &4� 

!�$	�	���+            &� �6�� !��7< �;$A �"	/�� 
��� &�	� 
�FN�� !���� �;$N� �($	
 
��*7�� !�$	�	���.      >	��� B�#� ���� ��N� ��� ��,	 1cm3     B�, �6��� H�� &� 

  ���n   �	/�� 
� &� +     
4#��� ���	 <    4)�< 	< ��470       >	��4� �4,�F� �4-�) 
 !��?)72�n.h.m+�� 
��	� !��� H��	 4:  

dyn.cm/cm3  = dyn/cm2
 

  &<	      &�� 
� B� �7- ��1            �4, �	4#	��� ����46I� 
��� &�	 	< �6 ��FN� 2
  ��	��� 0�� ������+       04�� ��$�F�� �, )����� ����6I� 
��� &� 
#��� ��� &< >< 

   >	��� �	/�� ����� ��	���: n.C  +        
��- �;� 
;$� 
��	 3� >��� !-	�� �, &��	
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C�$Pulse�������� >	��� : P= m.C+ < ������ > m �/  �	/4�� ���4� �. 
  �$� H�$�� ���	 B$<     ���� H�� 
�)7� ��� ��      ��	���� !����6I� &� ��"	/�� � 4)�� 

������� ��������� ��	����� C�$�� ��*� ���� 
��-:   

n C . m C = n m C2
 

 
����� H��	1 !��� ��	����� 
��� �-�) 2n m C2 = n h ν  ���?)472� 	< 
�������:  

m C2  =  h ν 

   H�� &�	           >	��4� ���� �"	/�� 
��� ���� ��)���� ������� �������� 5�6� �������
�������� �������:   

m = h.ν / C2 

      �< ���($ ��� 3�- &� 8��$ &��	$ � &��6N      �	/�� ����� @���� 
�# 3� &
B���� ����+������� �,	����� �������� ��� H��$ �� ���	 :  m = m0 / √1-(v/c)2 

������ K�7� ��� ><  v  �	/�� ���� >	��� C+>	��� ���- ������ ��N�, m = 

m0 <%��7 >+���	����� ������ ������ ��� &��	 :   

m =  hν/C2 

     '���� K�7�	 3��� 
� ������ H��	      3	�$ &N� =�)��$ �$� �1  
������ &	�	��� ���� &
%��7 >	���� m0p = 0+"����� !����#�� )��� �, &	�	��� =/$ ����� ��;�	 ��+ 

�7�� 
��� �;����� �)�$	+>��� !-	�� �, &	��  � �� 3�	 !�$	�����	 !�$	����j
        �,	��� �7�� 3�� ���	�� ���� �, !����#�� &� 0���+    =�)��$ !�$	�	��� ��<	 

<   ;����� &� 3	�$ &� ;$N� �   !����# �6���0   �	/�� ���� =� +   ��-���� !����#��	 
;����� ����� �, 0��� 1�0 �U 
� &�7i����� �, �,	����� �	/�� ���� 0�1 3  .  

7.2��' ���+�� ��� ��$�@�� 0 �:
  

1 H?�< !�#	 ���� 
��� ���� ������ &m = hν / C2+  �4, T��� ����< !��< 
>		$�� �������� 
��D   
4��� �4-�)� �4,	����� �������� 
������ �$�	  :Eq = h.ν 

o b e i k a n d l . c o m
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>	��� ������ ������ K�7�, �;��� �, �;�/$ :m = Eq / C
2   >�4�� !4-	�� �, 

���� �-�)�� >	���E �������� �������� �	�$����< 0�1 �$�	����� &��6� �������� :  

E = m. C2 

 =������ �	/�� ���� ��/ 
����� ���� ����$ >	��� �-�)�� &< ><.  

1            
���	 �-�)�� !2�#� 3� �, �����)��� �;���- �;� ���� ���($�� �������� H�� &+ 
�;� <���� 
���� . 	 �     �	/�� 
�� ������ �;$N� T�$ ��+ �4;$N� !$��< &��	  � &4�� < &

     ������� ������ ����� 3� �, 3�����+      &�� 
� �;$< @���	 1     �4-�)�� ����$� ���($ 2
  ������ ����$ �;�����+     4'�< 
��#A� 	< ��	���� ������ ��G ������ �7�� �;$<	 �  &�4� 

       	< ������ 	< 3���� 3F� �;�	$�����+    &�� 
�	 1 %��< 2� �   ��		$�� ��#	�	$���� 
	���
 B$N� 
;��� &��� 3������<
���� �-�) K��� 
����� &� ���� �*7. �� �������� H��	 

 	 3	<m      ��		$�� �-�)�� �����< 
����� �#	 �� ��. F�	 �     
��G 3������� @�� 0�� E2
���	 
���+ < >m = 1gr+'�# ������ ����$ �-�) �$�)��   �E  �4������� 3� ��� 

�������:  

         E = m.C2   

    E= 1gr . (3.10+10)2.cm2/sec2 = 9.10+20 erg = 25.10+6 kwh   

    (1Wsec = 1J sec)  1erg  = 10-7 W sec  = 2,78.10-14kwh   

                        E = 9.1020 . 2,78.10-14 = 25.10+6 kwh    

�@�א�!��3��B��9%�א��א:��/��%�CCorpuscle�� �

1.3 �#�
$	 �B�D�  

�,����!����#��	 !�#	��� &�� &��	� 	< �$��	� ����� +  ��N� ������� �,����	 
  �	/��  3�6     !����# 	< ��,���� !�#	�Corpuscle  
�F��� 
�6�$� +   !-	�� �, 

    %��F� �	/�� �$� �;(� >����         �4)N����	 8��4�$2�	 J�4��$2� 3F� B����� &� + 
$	        '���� �;��6	 �;�� !������ H�� 3�� �)�$ &N� =�)��     >�4($�� 3��� ����)� �

!�#	���.Theory of Wave+   !���FN4��� �4,��� ��� &� ��#$ ��$�F �;# &�	 
��"������� !���FN� 3F� !�$	����I� 0�� �	/�� !���FN�� �,	�����: Photo and 
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Compound effect+� N !����#� �	/�� ��N$ &Corpuscle+  T�4$ �$�	 < &
    ;��� ��� &�$F2� !���FN� !������     B� 8������ &�	 ���)�	 ��	��� +     �4�$ 
� &��	 

  ��$1    8���$ &< 2<   �	/�� &Corpuscle+   ��� <      H��	 !�#	� !-	�� J�$ �, B$
  ;� 8���� !-	�� J�$ �, &������� 
�#��� �������� ���#���'���� �+  ��4������ &��	 

   8���� �����?��� � 3	��	N          	< !����4#� 	< �#	�� ������� ��7 H�$� �	/�� &
	< !�$	�	,Corpuscle.   

2.3 ,����� %
&�	  Elements wave  

1      37	� �� ���G �������� B$1         	< !�4#	��� &�� �	/�� ������ �������� 
�� B��
 !����#��Wave or Corpuscle+� &�� 
� ��� &��	  74�	%�   �	/4�� 04�� �

 ���� !�$	�	���	   ���	 ����)�$*�	����I� !����6I�	 +       �4� 3� 0�� &��	 3� 
  '�< !����#��� �����  �;�	$ &�� .   �$�	 	      &�� 
� ��� V	/	��� �������1  %��46 2 �

�N    
���� ��G �	/�� ����) &< >< �;���$ ��	#�N� �;(� �;$Phenomena+ ���� 
         !����#� 	< !�#	�� �	/�� ����) &�� ����� �)� �$� &���. ��	    �$��6	 5�� �

�#��$ �$� 8�$ 
�	+ 1�0 �"������� ��?��� ��# &< � ��$���De Brogelie   �$4�
1892 � 1924        4�;��� 84������ &������� =�# >�($ ������ +�     �	/4�� &< >< 

 @���	 �#	��Corpuscle+	 <���G	 !�$	����I� @���  3���� !����#�� &� N &
;�/	�!�#	� 
�	7� +��� ��;�	 ! ���($ ��	�	�� �#	�� H�� �"������� R����+ 

< !�#	��� >� �;� �	7����	 ������Element Wave  .   !�4�� !�4#	��� H��	
           ��� ���� �, �#� ���� ����� 9	�� 3F� &����� �, 9	���� !�#	��+   ���($� 3� 

 %��# 3F���        >	��� ���� �	���� ���� @���	 @���� m0  +      @�4��� 
�4#�� ��4�	
>	��� ����� v +��	 �-�)��  ����$�� ��� @��� @��� B$E  +�� 
��-	4 Pulse 

C�$�� ><P������� �������� ��� ������	 ������� @��� �������� :    

E = m0C
2 / √1-(v/c)2 and P = m0v / √1-(v/c)2

  

  	 ���	�� =���	<            C�4$ ��4-	 �	/�� �-�)� ���� !2���� &� H�#	 �� ��
  �	/4�� 
4�� &������� �	/��+ E?F4� : E =h.ν @��4�	  P = h/λ 8	�4����	              
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 λ = C/ν P = m.v� N���� H�� &�  4�� ����4# 0�� 3����� !2�4Corpuscle 
��������+%�� 
;����� H��$ �� ���	 �������� !2������ �, :   

ν = 1/h . m0C
2 / √1-(v/c)2and λ = h . √1-(v/c)2 / m0v  

   T�$ �$�	<   ������ &m0 ������	 v #	� 	��   �#	��� ���-�	 !�� &λ �������	  ν+ 
A   @$�� ����F ��FN� &h  E����� �#	< �    �#	��� &�� λ  ������� @���	  ν+ %/�<	    @��4� �

&�� �� ����	 3����4 Corpuscle. �#	��� 3	) K�7< �$�	  λ�  �4#	� >	��
  3�� ���	)�� ��	�	�� Corpuscle  +     �47���� �4����� �, &��	+     ���4� &< >< 

  !����#��v 7� �  K<)�N   �	/�� ���� &� C  i����� �, .     !2��4���� !��6� ��;�	
�������:   

ν = m0C
2 / h      and     λ = h / m0.v  

   �#� &��	<       %/�< �$�$� �#	� B$< �$��� &� !	�� 2    �)��� ��*� �;���$ ���� �+ 
 ������� �,	�����U = Phase speed. ����4�� H�;� �	7����	 +  ���4� >< 

  �� ���� !�#	���  %�	) ����	 9	��   %�	)	 3��# 3�6� �  ���	< 3�6� �+   H�� !�)�N, 
������� ���������:   

U = λ.ν  =  h.√1-(v/c)2 / m0v . m0C
2 / h.√1-(v/c)2 = C2/v  

   �$� T�$,<           !�$	����I� &��	 i����� �, �	/�� ���� 5	�� ������ H�� &< 	
  !����#���   ����� 3�$�v     ��*��� ����� J��	 U  + 	� ��;�	      ���/4� �4$� �4#

����$���+    �$�	�� E?F� 3����$ ��;�	 :        ���	 &	����I ��	�	�� �#	� 3	) &	�� 
� 
     �"����� ���	 ���� 3��$�1%   �	/�� ���� &� +      >	��4� �	/�� ���� &	�� ���   

C = 2,998.10+6m/sec+>	��44� &	�44���I� �44��� &	44�� �44�� @��44�	 :             
m0 = 9,109.10-31kg Z, X3	) &������� �������� >	��� ��	�	�� �#	� :  

λ= h / m0.C 

λ=6,626.10-34Jsec/9,109.10-31kg. 2,998.10+6 m/sec=0,2426.10-9 m 

               V��461 �4#	� 3	4) )�4�� �4, 
�	#	� ��	�	��� ���	)�� �#	��� H��	
Reontgen &��� ��	  �,����;����-	 �;$�	 �����.  
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3.3  �@+���� \,
H��� %
&�	  Probability Wave   

     !2������	 !���($��	 
������ ���#��� ��� &��,�����	/�� ����) + 0�1 �$�� 
5��)���	 �����2�D��	7��� ����) �$��N, +�	 < �$�<  �	/4�� �;# &The Light 

Intensity              B4$�		 B����� �;#�� ��� &N� �;(� 
�	7�� ��	� 0�� 3�� 3� �,
  &���Probable 8��7���� +   #	 0�� 3��	   &	4�	, �	.  H�4�	 +     �4���� &< >< 
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